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I €250 i shared between 3 I
children.
Danni receives £20 more than
Esma.
Danni receives twice as much as
Fiona.
How much does Danni receive?

Danni

Esma €250

Fiona
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Theo has some bonfire lollies.

+ He sells 120 in the morning.

« In the afternoon he sells a quarter
of what he has remaining.

+ He now has half of the lollies he
had at the start left.

How many lollies does he have left?

120

—
Morning
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| 30 apples are shared equally
between 5 children.
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How many apples do Amir and
Alex have in total?

30
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